-

4. Paul volunteered at the senior
9

2
center for “10 hours on Saturday
1
B
1 and "6 hours on Sunday. How
Bella ate 4 of the granola bar, Owen

1 many hours did Paul volunteer at

L the senior center on both days?
ate 3 of the bar. How much did Owen

and Bella eat combined?

N

s,

~

2. How long does it take to drive
from Minneapolis,ito Chicago
through Green Bay?

5. Twenty-four out of 54 students
participate in extra-curricular
school activities. What fraction of

Houts to Travel the students participate in extra-

Route Gl curricular school activities?
Minniaapalis to Graen Bay 4%
Green Bay to Chicago 3% \""
| =

¥ =

6. Use the table below. On which two

days did Kayla run the same

3. Anna played tennis for ZEThOUYS on distance?

Saturday and|Zhours on Sunday.
How many hours did she play

Distauces Kavia Ran Last Week

tennis during the weekend? Day Monday| Tuesciay| Wedne sday| ThnsdayfFriday
Distance (Miles) % g‘ 1‘% }g :5%

4 | Lo



7. Gia waiked‘f{?rniie from her house 10.Suki had a piece of ribbon that

to the park, then Znile around the 2
park, and then%; nile back home. wag ¢ /yard long. She cut o 3
How many miles did she walk in yard to tie back her hair. She ']’@)‘ -

all? wrote a fraction, in simplest form,
for the amount of ribbon that was
left. What was the numerator of
the fraction?

© 0o ©0°

SYREVREVRNRARN

8. Of the shapes shown, _13" are "‘%{ ‘:‘;:’i 1*%’" %” 2/
circles and 'E?Eare rectangles. Eé“: ‘/é': &éf ;;3_{ Ié’) |
What fraction of the shapes are 4y 4 4 W4
OROX IRORD

©EE © s

DOD DD

® @8 & ®

OROROBRORE)

;
9. Libby’s dog stands § yard tall, and

5
Jeff's dog stands § yard tall. How much
taller is Jeff's dog than Libby’s dog?
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Jon hiked ' miles. Which point on
the number line best represents
the distance he hiked? Q_Q’,.

e Q g
TP S TSV S VSR SO e
o | /Qz‘ 3/ 4 S
T l “?z’i'\ L
3%
| wnole

12. What is the sum?

mnn

35+l%

l =

FLa i
Jf"“é{; ,9/ .

W

14 Which list contains only prime
numbers?

@3. 17.29

B.13.17.30
s 13, 18, 20

D.17.27.29




Name: Class:
Date:

3rd six weeks checkpoint review

Multiple Cholice
Identify the choice that best completes the statement or answers the gquesiion.

I5. Which of these sums is greater than 17
o 1.3 5. .
" 58 2 \ess B -
? \wos e
)
e
P

b, 3

+
2

b “+
c. 7 1ess Hhan halk

\f)o#rh mefe than 5

. Which shows -4% in simplest form?

s

=

oinlmia wia
clojoir

o

=

—*iw’&mim ol Bl
2
.;Z.
=
o< 2
\D,
O
C
'k

o

7. Which improper fraction does NOT eqdai a whole number? l




Name: . iD: A

18.- Colton used 1 % boxes of tiles in the bathroom and 5:} boxes of tiles in the kitchen. He drew the model

below to find th@mber of boxes he used. Which eguation matches the model?

Al ON

-

4. Carmen is making homemade !‘:tggg_ci.icn‘x family supper using the recipe below. Which fraction is
another way to express the-amount of fiour in Larmen's recipe?

— Carmen's Bread Iﬂectbé 1 \
( ‘-zﬁ cups of Nou 1% packages of yeast A\
3; tablespoons of sugar Lg__sncks of btter '
2—32— l9aspoons of salt VAT
19 A
a. Y CUpss, | ——— —~—
16 )
b. 7 cups e
11 ey
C. "z* cups N
d —E cups -
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@ 4% + 3% -
odd Whole #F's Ly
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then add ‘rachons
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